# An elementary proof of Catalan-Mihailescu theorem 

Jamel Ghannouchi

## To cite this version:

Jamel Ghannouchi. An elementary proof of Catalan-Mihailescu theorem. 2011. hal-00677731v33

## HAL Id: hal-00677731 https://hal.science/hal-00677731v33

Preprint submitted on 26 Mar 2014 (v33), last revised 25 Oct 2014 (v35)

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire HAL, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

# An elementary proof of Catalan-Mihailescu theorem Jamel Ghanouchi <br> RIME department of Mathematics <br> jamel.ghanouchi@live.com 


#### Abstract

( MSC=11D04) We begin with Catalan equation $Y^{p}=X^{q}+1$ and solve it. (Keywords : Diophantine equations, Catalan equation ; Approach)

\section*{Resolution of Catalan equation}

Let Catalan equation : $$
Y^{p}=X^{q}+1
$$

We have $$
X^{q-3} Y^{2}-Y^{p-2} X^{3}=A
$$

If $A=0$ then $X^{q-6}=Y^{p-4}$ leads, as $G C D(X, Y)=1$, to $p=4$ and $q=6$. This case has been studied by Lebesgue in the XIX century, it has no solution. Thus $A \neq 0$. And if $A= \pm 1$ then it means that both $X^{q-4} Y^{2}= \pm \frac{1}{X}+X^{2} Y^{p-2}$ and $Y^{p-3} X^{3}=\mp \frac{1}{X}+X^{q-3} Y$ are rationals


it means that $q=3$ and $p=2$.
We have

$$
\frac{X^{q-3}}{A} Y^{2}-\frac{Y^{p-2}}{A} X^{3}=1=Y^{p-2} Y^{2}-X^{q-3} X^{3}
$$

And we have simultaneously

$$
\left(Y^{p-2}-\frac{X^{q-3}}{A}\right) Y^{2}=\left(X^{q-3}-\frac{Y^{p-2}}{A}\right) X^{3}
$$

And

$$
\left(Y^{2}+\frac{X^{3}}{A}\right) Y^{p-2}=\left(X^{3}+\frac{Y^{2}}{A}\right) X^{q-3}
$$

We have four cases with $u$ and $v$ integers

$$
\begin{gathered}
Y^{2}=u\left(X^{q-3}-\frac{Y^{p-2}}{A}\right) ; \quad X^{3}=u\left(-\frac{X^{q-3}}{A}+Y^{p-2}\right) \\
Y^{p-2}=v\left(X^{3}+\frac{Y^{2}}{A}\right) ; \quad X^{q-3}=v\left(\frac{X^{3}}{A}+Y^{2}\right)
\end{gathered}
$$

Or

$$
\begin{gathered}
u Y^{2}=X^{q-3}-\frac{Y^{p-2}}{A} ; \quad u X^{3}=-\frac{X^{q-3}}{A}+Y^{p-2} \\
v Y^{p-2}=X^{3}+\frac{Y^{2}}{A} ; \quad v X^{q-3}=\frac{X^{3}}{A}+Y^{2}
\end{gathered}
$$

Or

$$
\begin{aligned}
& Y^{2}= u\left(X^{q-3}-\frac{Y^{p-2}}{A}\right) ; \quad X^{3}=u\left(-\frac{X^{q-3}}{A}+Y^{p-2}\right) \\
& v Y^{p-2}=X^{3}+\frac{Y^{2}}{A} ; \quad v X^{q-3}=\frac{X^{3}}{A}+Y^{2}
\end{aligned}
$$

Or

$$
\begin{gathered}
u Y^{2}=X^{q-3}-\frac{Y^{p-2}}{A} ; \quad u X^{3}=-\frac{X^{q-3}}{A}+Y^{p-2} \\
Y^{p-2}=v\left(X^{3}+\frac{Y^{2}}{A}\right) ; \quad X^{q-3}=v\left(\frac{X^{3}}{A}+Y^{2}\right)
\end{gathered}
$$

First case

$$
\begin{gathered}
Y^{p}=u v\left(X^{q}-\frac{Y^{p}}{A^{2}}+\frac{1}{A}\left(Y^{2} X^{q-3}-Y^{p-2} X^{3}\right)\right) \\
=u v\left(X^{q}-\frac{Y^{p}}{A^{2}}+\frac{1}{A}(A)\right)=u v\left(X^{q}+1-\frac{Y^{p}}{A^{2}}\right)=u v\left(Y^{p}-\frac{Y^{p}}{A^{2}}\right)
\end{gathered}
$$

Thus

$$
u v=\frac{A^{2}}{A^{2}-1}
$$

As $u v$ is integer, it means that it is impossible thus $u=0$ and $A^{2}=1$ or $A= \pm-1$ ( $A$ is an integer and can not equal to $\sqrt{2}$ )
it means that $q=3$ and $p=2$.
Second case

$$
\begin{gathered}
u v Y^{p}=X^{q}-\frac{Y^{p}}{A^{2}}+\frac{1}{A}\left(Y^{2} X^{q-3}-Y^{p-2} X^{3}\right) \\
=X^{q}-\frac{Y^{p}}{A^{2}}+\frac{1}{A}(A)=X^{q}+1-\frac{Y^{p}}{A^{2}}=Y^{p}-\frac{Y^{p}}{A^{2}}
\end{gathered}
$$

Thus

$$
u v=\frac{A^{2}-1}{A^{2}}
$$

As $u v$ is integer, it means that it is impossible thus $u=0$
Third case :
We have here

$$
\begin{aligned}
Y^{2}= & u\left(X^{q-3}-\frac{Y^{p-2}}{A}\right) ; \quad X^{3}=u\left(-\frac{X^{q-3}}{A}+Y^{p-2}\right) \\
& v Y^{p-2}=X^{3}+\frac{Y^{2}}{A} ; \quad v X^{q-3}=\frac{X^{3}}{A}+Y^{2}
\end{aligned}
$$

And

$$
v A Y^{p-2}=A X^{3}+Y^{2} ; \quad A v X^{q-3}=X^{3}+A Y^{2}
$$

Or

$$
Y^{2}=v A Y^{p-2}-A X^{3}=v\left(Y^{2} X^{q-3}-X^{3} Y^{p-2}\right) Y^{p-2}+\left(X^{3} Y^{p-2}-Y^{2} X^{q-3}\right) X^{3}
$$

If $q \geq 4$ then $\frac{Y^{2}}{X}$ is surely an interger and it is not possible as $G C D(X, Y)=1$ And

$$
X^{3}=A v X^{q-3}-A Y^{2}=v\left(Y^{2} X^{q-3}-X^{3} Y^{p-2}\right) X^{q-3}+\left(X^{3} Y^{p-2}-Y^{2} X^{q-3}\right) Y^{2}
$$

And if $p \geq 3$ then $\frac{X^{3}}{Y}$ is surely an integer and it is impossible as $G C D(X, Y)=1$ ! The only solution is $(p, q)=(2,3)$.
Fourth case :

$$
\begin{gathered}
u Y^{2}=X^{q-3}-\frac{Y^{p-2}}{A} ; \quad u X^{3}=-\frac{X^{q-3}}{A}+Y^{p-2} \\
Y^{p-2}=v\left(X^{3}+\frac{Y^{2}}{A}\right) ; \quad X^{q-3}=v\left(\frac{X^{3}}{A}+Y^{2}\right)
\end{gathered}
$$

We have here

$$
A u Y^{2}=A X^{q-3}-Y^{p-2} ; \quad A u X^{3}-A Y^{p-2}=-X^{q-3}
$$

Hence

$$
Y^{p-2}=A X^{q-3}-A u Y^{2}=\left(Y^{2} X^{q-3}-X^{3} Y^{p-2}\right)\left(X^{q-3}-u Y^{2}\right)
$$

If $q \geq 4$ then $\frac{Y^{p-2}}{X}$ is surely an integer and it is impossible as $G C D(X, Y)=1$ ! And

$$
X^{q-3}=A Y^{p-2}-A u X^{3}=\left(Y^{2} X^{q-3}-X^{3} Y^{p-2}\right)\left(Y^{p-2}-u X^{3}\right)
$$

If $p \geq 3$ then $\frac{X^{q-3}}{Y}$ is surely an integer and it is impossible as $G C D(X, Y)=1$ !
The only solution is $(p, q)=(2,3)$
The only solution, in all cases, in $p=2$ and $q=3$.
And $Y^{2}=X^{3}+1$ whose solution is $(X, Y)=(2, \pm 3)$.

## Conclusion

Catalan equation $Y^{p}=X^{q}+1$ has solutions only for $q=3$ and $p=2$. We have shown a way to solve it.

## Références

[1] Paolo Ribenboïm, The Catalan's conjecture Academic press , (1994).
[2] Robert Tijdeman, On the equation of Catalan Acta Arith, (1976).

